BID SUMMARY April 1, 2013

1. No. CC040113-02.1 – Custodial Services, Rapid City Department of Parks and Recreation (Opened on March 20, 2013)

Base Bid
1. Black Hills Works \$67,000.00

2. No. CC040113-02.2 – Silver Street Area Utility Improvements Phase 2 – Gold Street, Project No. 12-2020 / CIP No. 50828 (Opened on March 26, 2013)

ADVERTISING AUTHORITY \$1,250,000.00 ENGINEER'S ESTIMATE \$1,385,187.60

Base Bid
1. Hills Materials Company**
2. R.C.S. Construction, Inc.**
3. Mainline Contracting, Inc.**

\$1,363,785.35
\$1,100,040.00
\$1,204,596.10

^{*} Cashier's Check, Money Order or Bank Draft Submitted

^{**} Bid Bond Submitted

BID AWARD SUMMARY

LETTING DATE: March 26, 2013

PROJECT: Silver Street Area Utility Improvements Phase 2 – Gold Street

Project No. 12-2020 / CIP No. 50828

RECOMMENDATION: Award Total Bid in the amount of \$1,100,040.00 to R.C.S. Construction, Inc. at the April 1, 2013 Council Meeting.

BIDDERS' SUMMARY

CONTRACTORS

TOTAL BID

R.C.S. Construction, Inc.	\$1,100,040.00
Mainline Contracting, Inc.	\$1,204,596.10
Hills Materials Company	\$1,363,785.35

City staff recommends awarding this project to R.C.S. Construction, Inc. for a total bid amount of \$1,100,040.00 based on unit pricing with the following appropriation:

FUNDING SOURCE	TOTAL	Sewer Replacement	Water Replacement	Streets	Drainage
ADVERTISING AUTHORITY	\$1,250,000.00	\$490,500.00	\$265,200.00	\$364,300.00	\$130,000.00
ENGINEER'S ESTIMATE	\$1,385,187.60			\$	\$

APPROPRIATION DATA:

FUNDING SOURCE	TOTAL	Sewer Replacement	Water Replacement	Streets	Drainage
COST CENTER		0833	0933	8910	8911
LINE ITEM		4380	4381	4370	4371
FUNDING CENTER		0604	0602	0505	0505
BID AMOUNT	\$1,100,040,00	\$424,207.70	\$238,528.60	\$306,177.67	\$131,126.03

CONSULTANT: DATE: 5/21//3

John Van Bleek, PE

Ferber Engineering Company, Inc.

PROJECT MANAGER: Keith Johnson DATE: 3/27/13

Keith Johnson

City of Rapid City

PROJECT NAME: SILVER STREET AREA UTILITY IMPROVEMENTS PHASE 2 - GOLD STREET

PROJECT NUMBER: PROJECT NO. 12-2020 / CIP NO. 50828

LET DATE: MARCH 26, 2013 LOW BID AMOUNT: \$1,100,040.00

					ENGINEER'	ENGINEER'S ESTIMATE		STRUCTION, IC.	MAINLINE CO		HILLS MATERIAL COMPANY	
ITEM NO.	STD. BID ITEM NO.	DESCRIPTION OF ITEM	UNIT	QTY (EST)	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
1	001.01	MOBILIZATION	LS	1.00	\$72,000.00	\$72,000.00	\$44,714.59	\$44,714.59	\$80,000.00	\$80,000.00	\$28,250.00	\$28,250.00
2	001.02	INCIDENTAL	LS	1.00	\$65,000.00	\$65,000.00	\$35,901.00	\$35,901.00	\$140,000.00	\$140,000.00	\$30,500.00	\$30,500.00
3	001.03	CONSTRUCTION STAKING	LS	1.00	\$26,000.00	\$26,000.00	\$18,007.00	\$18,007.00	\$16,000.00	\$16,000.00	\$16,400.00	\$16,400.00
4	001.04	RE-ESTABLISH PROPERTY CORNER	EA	4.00	\$150.00	\$600,00	\$337.64	\$1,350.56	\$75.00	\$300.00	\$90.00	\$360.00
5	A01,01	CLEARING & GRUBBING	LS	1.00	\$2,000,00	\$2,000.00	\$1,630.00	\$1,630.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00
6	A01.01.1	CLEARING & GRUBBING, TREES (6" - 18")	EA	19.00	\$250.00	\$4,750.00	\$167.89	\$3,189.91	\$140.00	\$2,660.00	\$285.00	\$5,415.00
7:	A01.01.2	CLEARING & GRUBBING, TREES (19" - 24")	EA	10.00	\$500.00	\$5,000.00	\$234.05	\$2,340,50	\$240.00	\$2,400.00	\$700.00	\$7,000.00
8.	A01.01.3	CLEARING & GRUBBING, TREES (25" +)	EΑ	10.00	\$1,000.00	\$10,000.00	\$366.00	\$3,660,00	\$360.00	\$3,600.00	\$1,200.00	\$12,000.00
9	B01.03	REMOVE MANHOLE	EΑ	8.00	\$550.00	\$4,400.00	\$700.62	\$5,604.96	\$300.00	\$2,400.00	\$500.00	\$4,000.00
10	B02.03	REMOVE & SALVAGE FIRE HYDRANT, VALVE AND BOX	EA	1,00	\$500.00	\$500.00	\$700.00	\$700.00	\$340,00	\$340.00	\$350,00	\$350.00
11	B02.06	REMOVE WATER VALVE & BOX	EA	2:00	\$400.00	\$800.00	\$270.00	\$540.00	\$103.00	\$206.00	\$90.00	\$180.00
12	B03.01	REMOVE STORM SEWER MAIN	LF .	94.00	\$15.00	\$1,410.00	\$6.47	\$608.18	\$5,40	\$507.60	\$9.00	\$846.00
13	B03.01.1	REMOVE EXISTING STORM SEWER CONNECTION	EΑ	2.00	\$500.00	\$1,000.00	\$393.00	\$786.00	\$305.00	\$610.00	\$550.00	\$1,100.00
14	B03.08	REMOVE TYPE "B" INLET	EΑ	2.00	\$400.00	\$800.00	\$163.00	\$326.00	\$160.00	\$320.00	\$250.00	\$500.00
15	B03.09	REMOVE TYPE "E" INLET	ËA :	2.00	\$600,00	\$1,200,00	\$366,00	\$732.00	\$200,00	\$400.00	\$350.00	\$700.00
16	B03.10	REMOVÉ AREA INLET	EA	1:00	\$400.00	\$400,00	\$366.00	\$366.00	\$130.00	\$130.00	\$250.00	\$250.00
17	B05,09	MILL & SALVAGE AC PAVEMENT	SY	5,391.00	\$3.00	\$16,173.00	\$2.03	\$10,943.73	\$2,30	\$12,399.30	\$3,55	\$19,138.05
18	B05.10	REMOVE AC PAVEMENT	SY	132.00	\$4.00	\$528.00	\$2,37	\$312.84	\$2.20	\$290,40	\$2.50	

		The state of the s		· · · · · · · · · · · · · · · · · · ·								
19	B05.14	REMOVE PCC APPROACH PAVEMENT	SY	166.00	\$3.25	\$539.50	\$2.64	\$438.24	\$2.20	\$365.20	\$7.25	\$1,203.50
20	B05.15	REMOVE PCC DRIVEWAY PAVEMENT	· .sy	174.00	\$9.11	\$1,585.14	\$2.64	\$459.36	\$2.40	\$417,60	\$10.00	\$1,740.00
21	B05.18	REMOVE CONCRETE CURB & GUTTER	LF	3,156.00	\$3.00	\$9,468.00	\$2.51	\$7,921.56	\$1.00	\$3,156.00	\$2.00	\$6,312.00
22	B05.25	REMOVE CONCRETE SIDEWALK	SF	1,858.00	\$2,50	\$4,645.00	\$1.07	\$1,988.06	\$0.30	\$557.40	\$1.00	\$1,858.00
23	B06.01	REMOVE FENCE	LF	56.00	\$3.50	\$196.00	\$1.67	\$93.52	\$4.00	\$224.00	\$5.65	\$316.40
24	B06.06	REMOVE MAILBOX	EΑ	23.00	\$168.76	\$3,881.48	\$60.04	\$1,380.92	\$90.00	\$2,070.00	\$125.00	\$2,875.00
25	B08.04	REMOVE & RESET SIGN	EA	3.00	\$100.00	\$300.00	\$85.00	\$255.00	\$75.00	\$225.00	\$85.00	\$255.00
26	B08.05	REMOVE & SALVAGE SIGN	EΑ	11.00	\$57.46	\$632.06	\$28.13	\$309.43	\$25.00	\$275.00	\$28.00	\$308,00
27	B08.06	REMOVE CONCRETE	SY	15.00	\$4.00	\$60.00	\$5.00	\$75.00	\$3.50	\$ 52.50	\$4.50	\$67.5
28	C02.01	UNCLASSIFIED EXCAVATION	CY	3,616.00	\$8.00	\$28,928.00	\$4.51	\$16,308.16	\$10.00	\$36,160.00	\$12.00	\$43,392.00
29	C02.02	UNCLASSIFIED EXCAVATION - DIGOUTS	CY	400.00	\$12.00	\$4,800.00	\$3.68	\$1,472.00	\$3.50	\$1,400.00	\$14.00	\$5,600.00
30	C02,06	UNCLASSIFIED EXCAVATION, ROCK	CY	-100,00	\$50.00	\$5,000.00	\$11.00	\$1,100.00	\$5.00	\$500.00	\$53.00	\$5,300.00
31	C02.09	UNDERCUT	CY:	1,564.00	\$6.00	\$9,384.00	\$5.75	\$8,993.00	\$6.00	\$9,384.00	\$19.00	\$29,716.00
32	C07.02	PLACING TOPSOIL	CY	976.00	\$8.00	\$7,808.00	\$4.25	\$4,148.00	\$9.00	\$8,784.00	\$14.00	\$13,664.00
33	C07.05	SODDING	SY	4,100.00	\$8.00	\$32,800.00	\$6.19	\$25,379.00	\$5.50	\$22,550.00	\$5.00	\$20,500.00
34	C07.07	HAULING AND PLACING CO-COMPOST	CY	246.00	\$10.00	\$2,460.00	\$5.37	\$1,321.02	\$6.00	\$1,476.00	\$13.50	\$3,321.00
35	C08.03	SEEDING, FERTILIZING, & MULCHING	SY	4,800.00	\$5.00	\$24,000.00	\$1,35	\$6,480.00	\$2.20	\$10,560.00	\$1.25	\$6,000,00
36	C09.01	4" UNDERDRAIN	LF	1,037.00	\$8.00	\$8,296.00	\$10.33	\$10,712.21	\$7,00	\$7,259.00	\$9.00	\$9,333.00
37	D06.02	CONCRETE ENCASEMENT	ĹF	132.00	\$40.00	\$5,280.00	\$25.57	\$3,375.24	\$45.00	\$5,940.00	\$40.00	\$5,280.00
38	D08.01	CONTROLLED LOW STRENGTH BACKFILL MATERIAL	GY	100.00	\$125.00	\$12,500.00	\$115.00	\$11,500.00	\$50.00	\$5,000.00	\$100.00	\$10,000.00
39	D09.01	TYPE I BEDDING MATERIAL	T.	100.00	\$21.00	\$2,100.00	\$18.00	\$1,800.00	\$10,00	\$1,000.00	\$29.00	\$2,900.00
40:	D10.01	TYPE II FOUNDATION MATERIAL	T	100,00	\$22.00	\$2,200.00	\$18.00	\$1,800.00	\$10.00	\$1,000.00	\$20.00	\$2,000.00
41	D10.02	TYPE III FOUNDATION MATERIAL	Т	100.00	\$28.00	\$2,800.00	\$18.00	\$1,800.00	\$10.00	\$1,000.00	\$22.00	\$2,200.00
42	E02.01	8" PVC SEWER MAIN (0'- 6')	LF	178,00	\$30.00	\$5,340.00	\$24.89	\$4,430.42	\$30.30	\$5,393.40	\$31.00	\$5,518.00
43	E02.02	8" PVC SEWER MAIN (6'- 8')	LF	545.00	\$32.00	\$17,440.00	\$24.89	\$13,565.05	\$30.50	\$16,622.50	\$33.00	\$17,985.00

	1		,· ···									
44	E02.03	8" PVC SEWER MAIN (8'-10')	LF	1,256,00	\$33.00	\$41,448,00	\$24.89	\$31,261.84	\$31.00	\$38,936.00	\$35.00	\$43,960.00
45	E02.04	8" PVC SEWER MAIN (10'-12')	ĿF	800.00	\$35.00	\$28,000.00	\$24.89	\$19,912.00	\$32.00	, \$25,600,00	\$40.00	\$32,000.00
46	E02.05	8" PVC SEWER MAIN (12'-14')	LF	304,00	\$38.00	\$11,552.00	\$26.21	\$7,967.84	\$33.00	\$10,032.00	\$46.00	\$13,984.00
47	E02.06	8" PVC SEWER MAIN (14'-16')	LF	33,00	\$45.00	\$1,485.00	\$27.54	\$908.82	\$35,00	\$1,155.00	\$55.00	
48	E14.01	4-INCH SANITARY SEWER SERVICE	LF	865.00	· · · · · · · · · · · · · · · · · · ·							\$1,815.00
49					\$25,00	\$21,625.00	\$20.83	\$18,017.95	\$21.00	\$18,165.00	\$57.00	\$49,305.00
	E15.01	STANDARD MANHOLE, 48"	EA	9.00	\$2,800.00	\$25,200.00	\$3,304.98	\$29,744.82	\$2,600.00	\$23,400.00	\$3,000.00	\$27,000.00
50	E17.01	TERMINATION MANHOLE, 48"	EA	4.00	\$2,800.00	\$11,200.00	\$3,160.00	\$12,640.00	\$2,400.00	\$9,600.00	\$3,000.00	\$12,000.00
51	E19,01	EXTRA MANHOLE DEPTH, 48"	VF.	53.20	\$200.00	\$10,640.00	\$108.14	\$5,753.05	\$255.00	\$13,566.00	\$300.00	\$15,960.00
52	E21.01	4" PVC SEWER CLEANOUT	EA .	33.00	\$250.00	\$8,250.00	\$170.62	\$5,630.46	\$150.00	\$4,950.00	\$120.00	\$3,960.00
53	E23.03	ABANDON MANHOLE	EA	1.00	\$300.00	\$300.00	\$480.00	\$480.00	\$420.00	\$420.00	\$650.00	\$650.00
54	E24.02	CONNECT TO EXISTING SANITARY SEWER MAIN	EA	5.00	\$550.00	\$2,750.00	\$405.07	\$2,025.35	\$820.00	\$4.100.00	\$550.00	\$2,750.00
55	E24.04	RECONNECT SANITARY SEWER SERVICE	ĒΑ	33,00	\$300.00	\$9,900.00	\$168.04	\$5,545.32	\$400.00	\$13,200.00	\$100.00	\$3,300.00
56	E24.05	CONNECT TO EXISTING MANHOLE	EA	4.00	\$1,095.90	\$4,383.60	\$232.20	\$928.80	\$750.00	\$3,000.00	\$250.00	\$1,000.00
57	E27.01.1	INSTALL SANITARY SEWER MANHOLE CHIMNEY SEAL	EA	- 1.00	\$500.00	\$500.00	\$600.00	\$600.00	\$300.00	\$300.00	\$475.00	\$475.00
58	E27.02.1	REPLACE MANHOLE BASE	EA	1.00	\$1,500.00	\$1,500.00	\$1,443.00	\$1,443.00	\$1,000.00	\$1,000.00	\$3,400.00	\$3,400.00
59	E27.03	RECONSTRUCT MANHOLE INVERT	EA	1.00	\$2,000.00	\$2,000.00	\$363.00	\$363.00	\$700.00	\$700.00	\$750.00	\$750.00
60	E28.01	BYPASS PUMPING	LS	1.00	\$5,000.00	\$5,000.00	\$5,313.00	\$5,313.00	\$2,000.00	\$2,000.00	\$14,700.00	\$14,700.00
61	F01.03	6" PVC WATER MAIN C-900, DR18 RESTRAINED JOINT	ĹF	35.00	\$35.00	\$1,225.00	\$31,45	\$1,100,75	\$29.00	\$1,015.00	\$47.00	\$1,645.00
62	F01.07	8" PVC WATER MAIN C-900, DR18 RESTRAINED JOINT	T.	1,546.00	\$40.00	\$61,840.00	\$34.71	\$53,661.66	\$32.00	\$49,472.00	\$47.00	\$72,662.00
63	F06,10	8" 22.5 DEGREE BEND	EA	2:00	\$400,00	\$800.00	\$505.00	\$1,010.00	\$550.00	\$1,100.00		
64	F06.11	8" 45 DEGREE BEND	EA	2:00							\$575.00	\$1,150.00
65		8" X 8" CROSS			\$420.00	\$840.00	\$509.00	\$1,018.00	\$550,00	\$1,100.00	\$575.00	\$1,150.00
			EA	1.00	\$500.00	\$500.00	\$835.00	\$835.00	\$900,000	\$900.00	\$975.00	\$975.00
66	F12.03	8" X 6" REDUCER	EA	2.00	\$350.00	\$700.00	\$427,00	\$854.00	\$285.00	\$570.00	\$400.00	\$800.00
67	F13.05	8" X 8" X 6" TEE	EA	3,00	\$650.00	\$1,950.00	\$732.54	\$2,197.62	\$650.00	\$1,950.00	\$800.00	\$2,400.00
68	F14.06	8" X 8" X 8" TAPPING TEE WITH VALVE W/ BOX	_ EA	1.00	\$5,000.00	\$5,000.00	\$3,188.00	\$3,188.00	\$4,400.00	\$4,400.00	\$5,000.00	\$5,000.00

		rime	T										
	69	F15.03	8" GATE VALVE W/ BOX	EA	6.00	\$1,379.35	\$8,276.10	\$2,016,04	\$12,096.24	\$1,750.00	\$10,500.00	\$1,885.00	\$11,310.00
	70	F17.01	FIRE HYDRANT WIAUX VALVE, WI BOX	EA	4.00	\$4,800.00	\$19,200.00	\$5,004.13	\$20,016.52	\$4,150.00	\$16,600.00	\$4,350.00	\$17,400.00
	71	F20.01	1" COPPER SERVICE	LF	897.00	\$28.00	\$25,116.00	\$26.15	\$23,456.55	\$21.00	\$18,837.00	\$30.00	\$26,910.00
	72	F20.04	1.5" COPPER SERVICE:	LF	121.00	\$65.09	\$7,875.89	\$30.40	\$3,678.40	\$24.00	\$2,904.00	\$45.00	\$5,445.00
	73	F23.01	1" TAPPING SADDLE	EA	21.00	\$275.00	\$5,775.00	\$234.65	\$4,927.65	\$91.00	\$1,911.00	\$430.00	\$9,030.00
	74	F23.02	1.5" TAPPING SADDLE & CORP STOP	ΕÁ	4.00	\$396.91	\$1,587.64	\$358.81	\$1,435.24	\$200.00	\$800.00	\$540.00	\$2,160.00
	75	F24.01	1" CURB STOP & BOX	EA	21.00	\$425.00	\$8,925.00	\$455.31	\$9,561.51	\$255.00	\$5,355.00	\$500.00	\$10,500.00
	76	F24.02	1.5" CURB STOP & BOX	EA	4.00	\$492.98	\$1,971.92	\$588.00	\$2,352.00	\$400.00	\$1,600.00	\$630.00	\$2,520.00
	77	F26.01	CONNECT TO EXISTING WATER MAIN	EA	4.00	\$2,000.00	\$8,000.00	\$463.70	\$1,854.80	\$2,300.00	\$9,200.00	\$800.00	\$3,200.00
	78	F26.03	RECONNECT WATER SERVICE	EA	25.00	\$250.00	\$6,250.00	\$168,56	\$4,214.00	\$450.00	\$11,250.00	\$100.00	\$2,500.00
	79	F33.03.1	TRACER WIRE BOX	ΕA	9.00	\$200.00	\$1,800.00	\$172.52	\$1,552.68	\$52.00	\$468.00	\$75.00	\$675.00
	80	F34.01	FLUSH MOUNTED TEST STATION	EΑ	3.00	\$400,00	\$1,200,00	\$314.11	\$942.33	\$400.00	\$1,200.00	\$400.00	\$1,200.00
	81	G01.05	18" RCP, CLASS 3	LF	438.00	\$40.00	\$17,520.00	\$46.63	\$20,423.94	\$36.75	\$16,096.50	\$50.00	\$21,900.00
	82	G01.08	24" RCP, CLASS 3	LF	430.00	\$55.00	\$23,650.00	\$55.00	\$23,650.00	\$44.15	\$18,984.50	\$60.00	\$25,800.00
	83	G06.03	18" RCP FLARED END	EA	1.00	\$1,000.00	\$1,000.00	\$563.00	\$563.00	\$730,00	\$730.00	\$600.00	\$600.00
	84	G24.02.1	CONNECT TO EXISTING 60" STORM SEWER MAIN	EA	2.00	\$500.00	\$1,000.00	\$768.00	\$1,536.00	\$600,00	\$1,200.00	\$300.00	\$600.00
	85	G24.07.1	CONNECT TO EXISTING INLET	EA	1.00	\$500,00	\$500.00	\$161.00	\$161.00	\$510.00	\$ 510.00	\$450.00	\$450,00
	86	G27.01	4' X 4' JUNCTION BOX	EΑ	1.00	\$3,500.00	\$3,500.00	\$4,935.00	\$4,935.00	\$4,420.00	\$4,420.00	\$6,135.00	\$6,135.00
	87	G27.03	7' X 7' JUNCTION BOX	EA	1.00	\$7,000.00	\$7,000.00	\$10,212.00	\$10,212.00	\$8,600.00	\$8,600.00	\$10,500.00	\$10,500.00
	88	G31.01	TYPE "B" INLET 2X3	EΑ	7.00	\$3,000.00	\$21,000.00	\$1,773.20	\$12,412.40	\$2,125.00	\$14,875.00	\$3,000.00	\$21,000.00
	89	G31.02	TYPE "B" INLET 3X4	EΑ	3.00	\$4,000.00	\$12,000.00	\$2,189.57	\$6,568.71	\$2,750.00	\$8,250,00	\$3,650.00	\$10,950.00
	90	G31.03	TYPE "E" INLET	EA	3.00	\$4,000.00	\$12,000.00	\$4,738.71	\$14,216.13	\$4,000.00	\$12,000.00	\$5,585.00	\$ 16,755:00
:	91	G31.05	AREA INLET	EA	1.00	\$3,500.00	\$3,500.00	\$3,037.00	\$3,037.00	\$2,750.00	\$2,750.00	\$4,825.00	\$4,825.00
	92	G31.05.1	STORM WATER QUALITY OUTLET STRUCTURE	EA	1.00	\$6,000.00	\$6,000.00	\$3,836.00	\$3,836.00	\$2,200.00	\$2,200.00	\$5,500.00	\$5,500.00
	93	H02.04	CLASS II RIPRAP	TON	67.00	\$45.00	\$3,015.00	\$37.11	\$2,486,37	\$40.00	\$2,680.00	\$55,00	\$3,685.00

94	H02.04.1	DRAINAGE FABRIC	SY	100.00	\$5.00	\$500.00	\$3.00	- \$300.00	\$3.00	\$300.00	\$4.50	\$450.
95	H02.04.2	PROVIDE AND PLANT DECIDUOUS TREE	EΑ	16.00	\$100.00	\$1,600.00	\$315.13	\$5,042.08	\$280,00	\$4,480.00	\$450.00	\$7,200
96	H07,01	EROSION CONTROL BLANKET	SŸ	2,200.00	\$5.00	\$11,000.00	\$3.04	\$6,688.00	\$2.70	\$5,940.00	\$2.00	\$4,400
97	H10.01	TURF REINFORCEMENT MAT	SY	289.00	\$5,00	\$1,445.00	\$4.50	\$1,300.50	\$4.00	\$1,156.00	\$6.50	\$1,878
98	H12.01	SILT FENCE	LF	562.00	\$2.00	\$1,124.00	\$4.98	\$2,798.76	\$4.25	\$2,388.50	\$4.65	\$2,61
99	H13.01	VEHICLE TRACKING CONTROL	LS	1;00	\$2,000.00	\$2,000.00	\$280.00	\$280.00	\$750.00	\$750.00	\$1,475.00	\$1,47
100	H15.02	12" SEDIMENT CONTROL WATTLE	LF	2,853.00	\$4.00	\$11,412.00	\$4.85	\$13,837.05	\$2.00	\$5,706.00	\$4.50	\$12,83
101	H16.01	INLET PROTECTION DEVICE	EΑ	33.00	\$150.00	\$4,950.00	\$297.76	\$9,826.08	\$75.00	\$2,475.00	\$180.00	\$5,94
102	H17.02	STREET SWEEPING	HR	100.00	\$100.00	\$10,000.00.	\$107.00	\$10,700.00	\$25.00	\$2,500,00	\$125,00	\$12,50
103	101.02	AGGREGATE BASE COURSE	Т	4,296.00	\$21.00	\$90,216.00	\$19.13	\$82,182.48	\$19.00	\$81,624.00	\$24.00	\$103,10
104	102.02	GRAVEL SURFACING	ī	917.00	\$21.00	\$19,257.00	\$ 19.13	\$17,542.21	\$19.00	\$17,423.00	\$26.30	\$24,11
105	103.04	WOVEN GEOTEXTILE SUBGRADE REINFORCEMENT	SY	-200.00	\$5,00	\$1,000.00	\$5.00	\$1,000.00	\$3.00	\$600.00	\$4.30	\$86
106	104.03	AC, CLASS G, TYPE 1 PG64-28	т	1,447.00	\$105.00	\$151,935.00	\$81,37	\$117,742.39	\$72.50	\$104,907.50	\$79.25	\$114,67
107	114.01	PCC APPROACH PAVEMENT, 6" REINFORCED	SY	67.00	\$120.00	\$8,040.00	\$71.64	\$4,799.88	\$69.00	\$4,623,00	\$66,00	\$4,42
108	116,01	PCC PAVEMENT, 6" REINFORCED	SY	135.00	\$50.00	\$6,750.00	\$69,79	\$9,421.65	\$58.00	\$7,830.00	\$65.00	\$8,77
109	117.01	PCC APPROACH PAVEMENT, 6" NONREINFORCED	SY	238.00	\$62.51	\$14,877.38	\$58.82	\$13,999.16	\$64.50	\$15,351.00	\$61.00	\$14,51
110	117.04	PCC APPROACH PAVEMENT, 6" ADA NONREINFORCED	SY	61:00	\$70.00	\$4,270.00	\$54.82	\$3,344.02	\$64.50	\$3,934.50	\$61.00	
111	!17.04.1	PCC APPROACH PAVEMENT, 6" ADA REINFORCED	SY	· `50,00	\$75.00	\$3,750.00	· \$71.44	\$3,572.00	\$69.00	\$3,450.00		\$3,72
112	118.01	PCC DRIVEWAY PAVEMENT 4", NONREINFORCED	SY	116.00	\$50.10	\$5,811.60	\$43.75	\$5,075.00	\$46.50		\$66.00	\$3,30
113	· I19.01	CONCRETE CURB AND GUTTER	ĽF	2,198,00	\$20.00	\$43,960.00	\$15.94	\$35,075,00		\$5,394.00	\$40.00	\$4,64
114	121.01	CONCRETE "P6" GUTTER	LF	393.00	\$19.00	\$7,467.00	\$15.94	\$6,264.42	\$16.50 \$17.75	\$36,267.00 \$6,975.75	\$19.00	\$41,76
115		CONCRETE MODIFIED "P6" GUTTER	LF	106.00	\$19.00	\$2,014.00					\$18.00	\$7,07
116		CONCRETE FILLET & PAN, 6" REINFORCED	SY	160.00	\$80.00	\$12,800.00	\$15.94	\$1,689.64	\$17.75	\$1,881.50	\$18.00	\$1,90
117		CONCRETE SIDEWALK, 6" REINFORCED	SF				\$68.18	\$10,908.80	\$68.00	\$10,880.00	\$76.85	\$12,29
	102.00	CONCRETE SIDEWALK, 4" NONREINFORCED	3F	463.00	\$7.98	\$3,694.74	<u> </u>	\$3,463.24	\$6.90	\$3,194.70	\$9.75	\$4,51

119	I38.01	DETECTABLE WARNING PANEL	SF	60.00	\$35.00	\$2,100.00	\$23.23	\$1,393.80	\$40.00	\$2,400.00	\$45.00	\$2,700.00
120	L05.01	END OF ROAD MARKER	EA	9.00	\$250.00	\$2,250.00	\$174.44	\$1,569.96	\$155.00	\$1,395.00	\$175.00	\$1,575,00
121	L05.01.1	SINGLE UNIT CLUSTER BOX PAD	EA	5.00	\$250,00	\$1,250.00	\$675,39	\$3,376.95	\$275.00	\$1,375.00	\$735,00	\$3,675.00
122	L06.01	TRAFFIC CONTROL	LS	1:00	\$5,000.00	\$5,000.00	\$6,235.0 0	\$6,235.00	\$5,540.00	\$5,540.00	\$6,200.00	\$6,200.00
123		REPAIR 60" STORM SEWER SAG	LS	1.00	\$5,000.00	\$5,000.00	\$6,959.00	\$6,959.00	\$5,150.00	\$5,150.00	\$15,250.00	\$15,250,00
124		TYPE 3S RIGHT-OF-WAY FENCE	LF	120.00	\$5.00		\$13.50	\$1,620.00	\$8.00	\$960.00		\$1,374.00
		TOTAL				\$1,385,187.60		\$1,100,040.00		\$1,204,596.10		\$1,363,785.35

CONSULTANT/ I certify that to the best of my knowledge, this is a true tabulation of bids received for this project.

John Van Beek, PE Ferber Engineering Company, Inc.

CITY OF RAPID CITY

Reviewed by:

Keith Johnson 3/27/13
Keith Johnson Date